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sinA = cosC = 3
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2x-y+3=0,y=2x+3
. tana =2




4. x=45°Y 9, sinx, cosx, tanx2] HAE v St}

S5 . sinx =cosx < tanx

2
sin45° = \/7_

2
, cos4b® = \/T_, tan45° =1

. sinx = cosx < tan x
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. CH 3
sin 60 TR
- CH=6v3

. AH 1
cos 60 =13 "3
. AH=6
HB=15-6=9

. BC = 1/92 + (6V3)2

= 81 + 108 = V189
=321




\/(cosA—sinA)2 + \/(sinA+cosA)2 = V3 <4 o, tanA 2] S
Fotodet, (T 45° <A <90°)
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> e V3
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45° < A < 90°9 A sinA > cosA > 0°| 22
(£4]) = —(cosA —sinA) + (sinA + cos A)
=2sinA = V3

= sinA = \/73 of A4 LA =60°

. tanA = tan60° = V3




